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1. Which of the following statements is correct ? _ |
() ‘Dhauladhar Range’ branches off from the Great Himalayan Range near
Badrinath ,
(@) The Pir-Panjal range separates the drainage of the river Spiti from that
~ of the river Beas. : _
(iii) The Zanskar range is the easternmost range which separates Spiti and
Kashmir from Tibet. _ ;
(iv) The ‘Gumrang and Sholarang’ passes connect the basin of the river
Chandrabhaga with its basin in Tibet.
(A) (iv) only - (B) () and (i)
(C) (@) and (iv) (D) @2) only
frefafed 8 ¥ SFa wu7 @& ¢ 2
(i) ‘dieneR gdamen’ # wrEd Ig ® uw 3 e wdanen ¥ e §
(i) dr-dor@ St wifs T & I P w s TE @ osem =T |
(iii)Siewt Joft =@ geff ooft & & wifa ok R # faem @ oM HW ¥
(i) TR 3R iR’ < Sgam T & Sfad B foewa § sue 9fgw | ey €

(A) (iv) Saa (B) (i) 3R Gii)
(©) Gi) 3R (iv) (D) (i) HaaA
2. Select the incorrect combination from the following :
(i) Bahadurpur and Bandla ranges : Demi valley
(i) Markanda and Dharti ranges :  Dun and Sproon valleys
(iii) Chandertal lake | :  Kunzam range
(iv) Source of Parvati river ’ :  Mantilai lake
(A) () and (iv) ' (B) (iv) only
(C) (), (i) and (Gv) (D) (i) only
frafafea 4 @ o S99 ®1 997 S
(i) FEER AR FEa g <. )i S
(i) "wel SR e wEaEen g1 iR u wifet
(iti) =g Eie _ R s |
(iv) TrEd T &1 " . Tfees sia
(A) (@) 3R (v) . (B) (iv) HIA
(C) @), Gii) 3R (iv) D) G) HeEA

TBC : 21/P/1—A 2




3. Which of the following statements is correct ?
(i) According to G.A. Grierson, Kehluri is an offshoot of rude Punjabi.
(f) Kinnauri-Jangram mixture is the dilect used in Rakcham and Chitkul
villages of Sangla Tehsil.
(iii) The dialect spoken in the Rampur Bushehr, Kumarsain and Kotgarh regions
and in the nearby parts of the Satluj valley is called Kochi.
(iv) According to Dr. Bholanath Tiwari, Pahari language originated from ‘Dardi

and Pishchi’.
(A) (iv) only (B) (i) only
(C) (i), (ii) and (i) (D) (i) and (iv) only

frefafag § @ *FE w97 TE T
@ Stw W%mm@mwmﬁ@wﬁl
(i) TRl faso wien desiel @ twed R faawha el § WIS e dwed
areft ®
(i) THR IR, FAEA 3R Femg &4 o waas @ & e & feed d ded
SN el |l wifed wHEam 8l
' (iv) 1. Ay fEr @ STER, Terel Wi Wi Safa wdl o fawet’ @ &
(A) (iv) ®d (B) (i) FaA
(©) (), () FR (i) (D) (i) 3 (iv) FaA
4. Select the incorrect statement from the following :
(i) The ‘Khunds’ are the martial people of Kangra.
(ii) The most popular dance of Kinnaur is ‘Kayang'.
(iii) ‘Burah’ is a famous group dance of Mandi.
(iv) The Buddhist people of Lahaul-Spiti and Kinnaur perform mask dances.
(A) (ii) and (i) (B) (@) and (iv)
(C) (i) and (&) (D) (i) only
frafafea § A To@ w9 F T HIWC ¢
@ ‘gs' *wTE ® A ¥
Gi) FF=iR =1 Wl dwiE T R g
(i) ‘IO’ HE w1 wfs WEE T ¥
iv) TR aR e @ g @m gEE g w@
(A) (1) 3R (iid) B) Gi) 3R Gv)
(©) () IR @) (D) (i) e
TBC : 21/P/I—A 3 | P.T.O.
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5. Which of the following statements about ‘Jal-Jeevan-Mission’ is not correct ?

(#) In H.P. it is targeted to include every rural houseshold in providi_ng
‘Functiolnal Household Tap Connection (FHTC) to every family by June,
2022.

(i) Out of 17.28 lakh households, 15.80 lakh were provided FHTC upto
December, 2021.

(i) In Himachal Pradesh 91% of the households have been provided with
domestic connection against a national average of 45.50 percent.

(iv) Himachal Pradesh places at 8th position in the country for providing FHTC.

(A) All of the above (B) None of the above

(©) () and (i) Dy GG

SrA-see-fae’ & W § Prefafan § 4w we wd aw o2

() fewreed wewt # ST, 2022 OF WAF UER F wEEE W] T FHARE
(ThTE A T w0 § wEw T 9ReR A Wi ) w1 as

@) 17.28 @@ 9fER # ¥ 15.80 '<:7'IT!§I @R @ fTEe, 2021 9 TH.TEIAH. w|’H

ExRIRE
(iii) Temmaet W # 91% WRERl 1 wig] FawH YoM fwar T &, sefh T s
45.50 S 1 | |
Gv) ferae o TETEAD. T wA B wme § 2w # omed @ W R
(A) Iudaa gt (B) sSudwd # ¥ ¥ &
© &) IR Gii) D) (i) 3R ()

TBC : 21/P/I—A 4




6. Select the correct statements from the following :

@) -Supren:;e Court of India has allowed the State for silviculture green felling
of three species on expeﬁmental basis.

(i) Forests in H.P. cover an area of 37947 sq. kms of total geographical area
of the state

(iii) In H.P. presently 30% of the total geographical areas support forest cover.

(fv) The aim of the forest department is to enhance the forest cover in the
state to 35% of its geographical area by 2030.

(A) (i) and (iv) (B) () and ().

(C) @), (ii) and (iii) (D) None of these

frafafes § § ®& F9A * =979 HiC :

() WA F TES EeE Y YAl YR W U B G G w e
T W 7 ogEfa & %)

Gi) Tevrae wow H o9 59 & g diiifess &% @ 37947 o fwardie & &% @I
FR FWQ B

(i) Temrel oW & SdAW § %o Wit &6 @ 30% F HAX F GHA B F

(iv) o TH9F w1 KT 2030 7k TA H a7 &7 F 35% wAnifes &F 6 SQEI

o 1
.(A) (iii) 3R Gv) B) &) 3R @)
(C) @), (i) 3R Gii) (D) = q HE &

TBC : 21/PI—A ; 5 P.T.O.
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7. Match List-I and List-II and select the correct answer from the codes given
below : ' |
List-I List-I1
(z) Total geographical area of H.P. (@) 55.67 lakh hectare
(1) Total area of operational holding (b)  4.95 lakh hectare
(1) Area operated by number of farmers (¢)  0.95 hectare
(iv) Average holding size (d) 9.97 lakh
(e)  9.44 lakh hactare
Codes :
' @ G GiD) o)
A @ b @ ©
B) @ @ @ @
0O @ @ @ ©
D (@ @) b) (©
-l AR G-I A gafea i SR A ey T we A wd sw o e #fe

g1 ' F-11
() feurae waw1 &1 @ d9hifas §9%d (@) 55.67 oT@ TR
(i) UREEH Sd H KA AR (b) 4.95 W@ IRW
(iii) feamt =t dEm ¥ wufea &9 © 0.95 3R
(iv) 3lrea AfeST R | d) 9.97 @

€) 9.44 TG TRW
&HE
@ @ @) (o)
A (@ @) () (o
B) @ @© @ @
€ (@ @ @ (@
M @ @ ®) (@©

TBC : 21/P1—A 6




8. Which of the following statements is not correct ?
() The foodgrain production in 2020-21 in H.P. was 15.28 lakh M.T.
(ii) The production of potato in the year 2020-21 in H.P. was 1.97 lakh M.T.
(#i7) The production of vegetables in H.P. during the year 2020-21 was 18.61

lakh M.T.

(iv) The target of foodgrain production in H.P. for 2020-21 was 16.35 lakh metric
tonnes.

(A) (iii) only (B) All of these

(C) None of these D) @Gi) and (i)

frerfafaa § ¥ F FoR 9@ @ § 2

(@) 2020-21 H fewreer WY # WRIA IAEA 15.28 @@ Hifgw 2 41|

@) femem o # ¥ 2020-21 F Qg W FURA 1.97 W@ Hifgw A ATl

Gii) fomae wew # wfesdl &1 Seqed oW 2020-21 % IRH 18.61 W@ Hifgwm =

o

(iv) foamaa Wew § W IERA H W 2020-21 & fow 16.35 @ Hifgw A
| '

(A) (iii) e - (B) 7=

(C) T | ®E I (D) i) 3R (iv)

9.  Which of the following statements about tea production in H.P. is correct ?
() There are 5900 tea growers in the state.
(i) Total area under tea cultivation in H.P. is 2500 hectares
(i) In 2020-21 tea production in H.P. was 11.45 lakh kilograms.
(fv) Small and marginal farmers are provided agriculture inputs on 50% subsidy

basis.
(A) (1), (if) and (iif) (B) (ii) only
(C) All of these ' D) (), (i) and (iv)

forree 29 B 99 I9RA & SR # frefafes § @ S0 FoE O ¥ 2

@) T H 5900 TH IARE FI

Gi) Temmaa W § W@ # Bt § oiwla w@ ATFA 2500 FTRW ¥

(itd) 2020-21 ¥ few=a wew # =19 IARA 11.45 o@ fhenud o) _
(v) 3R 3R i FEEE # 50% WEEEl & UR W FHW TR WEH H W €
(A) @), (i) 3R Gii) (B). (i) Had

(C) ¥ Tft (D) (), i) 3R (iv)

TBC : 21/PI—A . 7 | P.T.O.




10. Select the incorrect statements from the following :

(i) H.P. has been assessed second top performer in terms of Human Resource
Development and Public Infrastructure among Hill States during 2020-21.

(ii) Bilaspur district has been rankéd at number one on the basis of District
Good Governance Index (DGGI)-2020.

(@#Z0) Shimla district ranked fifth in DGGI-2020.

(iv) Hamirpur has 1mproved its position to the fourth in terms of Transparency
and Accountability Index.

(A) All of these (B) (i) and (iii)

(C©) () and Gi) - D) (i) and (iv)

frefafea 8§ @ @ wa w1 59 =i .

@ 2020-21 % ¥A WEE T % W= AT @A faww R wEtE g
3 & A § ferEa e w1 @ v weviEeal w1 geied R mn #)

@) Foren gomm gawe (Sieisitend) - zozo%wmﬁmﬁrﬁﬁ@m
/@ TR

(iii) SYSTSI3ME-2020 ﬂﬁmmﬁwqmﬁwmmwz

) m%mﬁmmﬁw%mﬁﬁﬁwmmﬁﬁwﬁﬁ

R fEam &
(A) q @4t B) ) A i)
(C) @) 3R @) D) G 3R Go)

11. Select the correct statement/s about banking in H.P. :
(£} As per 2011 census, the average population per branch in the state was
4059.
(ii) The state has a network of 4422 bank branches.
(iiz) Shimla is the only urban centre in the state classified by RBI.
(lv) PNB has the largest network of 530 branches in H.P.
(A) None of these (B) (ii) only
(C) (i) and (iii) only : (D) All of these
fearae wew # dfFT B SR § W FU/FE w1 T S
() 2011 H A H R, TG F WG wrEn st SEE 4059, o |
(i) T § 4422 d% ywEn F ead )
(@) e T #1 THAE v @ ¥ R emeien® gm wiiga fwmn wn #
(iv) feorae wew § deAst #1530 ymEned F1 gEd W9 TS B
A T ¥ T ; - (B) () FEE
©) Gi) 3R (i) Faar D) A g
TBC : 2U/P/I—A ‘ 8




12. Which of the following is not the main objective of Rashtriya Krishi Vikas Yojana
—~ Remunerative Approaches for Agriculture and Allied Sector Rejuvenation
~ (RKVY-RAFTAAR) ?

-(i) To strengthen the farmer’s efforts through creation of required pre— and
post-harvest agri-infrastructure that increases access to quality inputs,
storage, market facilities etc. and enable farmers to make informed choices.

_(ii) To promote value.chain addition linked production modules that will help
farmers increase their iﬁcome as well as encourage production/productivity.

(iti) To attend national priorities through several sub-schemes. '
(tw) To empower youth through skill development; innovation and agri-

entrepreneurship based agri-business models that attract them to

agriculture. .
(A) (iEi) and (iv) (B) All of these
(C) None of these (D) () and (i)

Frefefen # @ @ T F e deM-F o Haw 8 B wEwe @

fer @Rl gftedion (RKVY-RAFTAAR) &1 &4 3e¥d @ ¢ ?

() oEvEs @ 3R HeE B AR % Fhu-giEe &N % fwi & mem @ feam
& YA B AT A F A S urEs e, Wenv, SR gawed ok @
wge =g ¥ o ReEl @ gfm faes @ § wgm @@ ¥ |

(i) Mea @ Fad ¥ IS e ?Ed H ggE ofl S feEl B 6 o
m%ma—mﬂmﬁmm#mmﬁﬁmm]

(zzz)aﬁmmﬁémwﬁ@@umﬁm@ﬁmﬁm

(v) HEE fawm, Waﬁtgrha‘aﬁmwmﬁa?ﬁwm%mmﬁ
Al ® TG S St IR ef9 & fau steRfda wd ¥

A) (i) 3 Giv)  ®

(©) T ¥ T D) ) 3 Gi) |

TBC : 2U/P[I—A - 9 \ P.T.O.




13. Match List-I and List-II with regard to plan outlays (2021-22) and select the

correct answer from the codes given below :

List-I List-II
(i) Agriculture and Allied Services - (@) 3221.49 crore
(i) Energy (b) 903.57 crore
(iii) Transport © 2724.32 crore
(iv) Social services (d) 929.31 crore

(e) 773.30 crore
Codes : '
@) G @) Go)
A © @ @ @
B) @ ®) © @
© @ @ & @
D @ © @ @
Ao W (2021-22) @ Gy F g ok gE @ faem @R ek T Ry
T ®wE { W IW IR :
gl 11

() FfE AR dag Jamd (@ 8221.49 ¥
@) S () 903.57 FS
(i) e € 2724.32 Fg
(fv) Trnfs Famd ; (d) 929.31 &S
| @ 773.30 &

FIT :
@ @) i) Gv)
(A) () (@ @ (e
B) @ B © (@
C) @ @@ ®) (@
D @ © @ @
TBC :-21/P/1—A 10




14. Which of the followirig statements is/are correct ?
(i) The traditional council of Khampas is known as ‘Shuzam Chungi’.
(ii) The common term for widow re-marriage used by Pangwals is ‘Doghri’.
(iii) The ‘Bushehr State’ was also known as ‘Maon’ or ‘Mone’.

(iv) According to Bhagawant Puran, ‘Kinner’ trace their origin from the shadow

of ‘Brahma’.
(4) (ii) only (B) All of these
(C) (i1), (i) and (iv) D) @), (i) and (w)

frafafes § @ FHa/aFd Fo7 w& T 2
() wTE F URuRe ufwe R g g %mﬁmw%
(i) dmEE gRn faver gafdeae @ fau wgw W v S R
@) ‘gEe = o ‘E A WA & AW | ot S S e
(v) wTEd U B IER, ‘fER @ Icfs ‘wen’ @t o A g %)
A) Gi) Fad o ® 3w
(©) (@), (iEd) 3 Gv) D) @), (i) R (v)

15. Read the following sentences and select the incorrect'o'ne :
(Z) St. Andrew’s Church in Chamba carries the influence of Scottish architecture.
(i) The architecture of ‘Manimahesh Lakshana Devi temple’ is ‘Indo-Aryan

_ Nagar. bLyle (Shikhar).
(i) ‘Champavatl temple’ in Chamba is built in ‘Graeco Buddhist art of Gandhara
(iv) The brass idol of the Goddess at Chatrari Shakti Devi t.emple in Chamba
district is in the ‘Kashmiri style’.
(A) (i) and (i) (B) (iv) only
(C) (i) and (iv) (D) None of these
frefafeaa ol ®1 9fet iR e 99 %1 999 ST
() w1 # ¥ Ugg W § wifew aRgEwen H IWE T
) ‘mivraRer weon It AR F ARgEn ‘FE-aR TR e (Rrer)” ¥

(5i) =e1 # =9l AR ‘muR w W g s’ # ffR g
Gv) de1 o & T wifw et A | I F dae F oA ‘«ﬂﬂ‘l‘ﬁﬁ?ﬂ Ci A
(A) (D) 3R @) (B) (iv) had
(C) (@) ¥R () (D) & @ H T

TBC : 2UP/I—A 11 _  PTO.




16. Choose the incorrect answer from the following :
(z) Abode of Goddess Mathi is ‘Chitkul’.
(@z) A living geographical museum is ‘Lingti valléy’.
(zzz) Chasak Bhatori is the highest village in ‘Lahaul valley’
(fv) The highest peak of the Kinner Kailash massif is ‘Jorkanden’.
(A) (iii) only (B) (iv) only
(C) (@) only (D) (i) only
frfafea § | wem sW g
() & medt w1 fraw faawa’ ¥
(i) UF Sifaq drifas dueag ‘famd a@ ¥
(iti) Arqeh I ‘ORI "l R WA A A §
Gv) TF=R Fomw w6 F gEY S 9k S’ ¥
(A) (i) Faw (B) (iv) F5a
(C) (i) Had (D) @) waa

17. Select the correct statement/s from the following : -
(i) Mahmud of Ghazni, made a raid on Nagarkot (Kangra) in 1008-09 A.D.
(i) Iiuen-Tsang stajrecl for sometime at Sirmaur with the monk Jaya Guptam.
(iii) Prince Nasir-ud-Din ascended the throne of Kangra under the name of

Muhammad Tughlagq.

(iv) The Nagarkot fort remained under the possession of Timur-e-Lang till AD

1043. |
(A) (i) and (i) (B) (iv) only
(C) @), (i) and (i) (D) All of these

freafafaa § 4 wé su/s9 &1 =999 Sifag .
() THT % HEWg 7 1008-09 ¥ H TR (FMTS) W B AN
(i) &M %8 T & fau fovir 4 fuyg s Taw # @y @)
(iif) TSIRAR TER-3T-3H ek Trod & A1 q FEST & T | S0
(iv) TREE F1 fwen 1043 = aF TR-T- B FA F @
(A) (d) 3R (i) (B) (iv) ®ad
(C) (&), (i) 3R i) D) T wsit
TBC : 21/P/I—A 12




18. Which of the following statements is/are not correct ?

(i) The battle of Nadaun was fought between Raja Bhim Chand of Kahlur
and the Mughals. |

(i) In the battle of ‘Dhalog’ Raja Janardhan of Chamba was defeated.

(iii) Raja of Hindur, Hari Chand was killed by Guru Govind Singh in the battle
of ‘Bhangani’.

(iv) The Gurkhas defeated the Kangra forces at ‘Mahal Morian’ in 1806.

(A) None of these (B) All of these

(C) () and (iiz) (D) (i) and (iv)

frafafed § @ SFAY/FHE FUA TE @ TE ?

6) ?@?ﬁﬂgﬁm'ﬁwaﬂﬂﬁzaﬁ?gnﬁir%aﬁaa?ﬁﬂésﬂl

Gi) ‘e’ & gg H d H TS TARA B W g

(i) fegx & wem, R =g & ﬁﬁ@éﬁﬂ??ﬁﬁzmﬁmﬁmm

(fv) 1806 W 'mew HIfEA' F TiReEnsi ¥ HiTer ¥ H O

(A) T § FE T B) ¥ wft

(€) (i) R Gii) L) () IR (v)

19. Select the correct statement/s from the following : :

(i) Khoksar is located on the old trade route from Indian plains to the West
Asia. |

(i) The coins of Adumbras shows that the tribe was worshipers of Lord Vishnu.

(iii) In Mahabharata, it is mentioned that the Adumbra is the name of the

sage Vyas.
(fv) The tribal republics of H.P. were ‘Séngha Janapadas’.
(A) (ii) only (B) (iv) only
(C) (@) and (iv) (D) () and (1)

freafafem § @ 98 F9/F9E H1 999 FHiNC
G) WER RdE deH ¥ ufrem T 9% @ W =R gt @ fem §
Gi) e & el ¥ T 9o ¥ fF Aw SEenfa W Ay w Sumes |
(i) wEra #, a7 oo fEn T ¥ fR wmfy emw aw Am s R
Gv) fearael RN & SASEE TR ‘EE wA9e’ 9|
(A) (i) Fad | (B) (iv) e
(C) () &R (iv) (D) (@) 3R (i)
TBC : 2U/P/1—A 13 | P.T.O.




20. Which of the following statement/s about Kullu is/are not correct ?

(1) Kullu remained part of Punjab state till 31st October, 1966.

@) Kullu was a sub-division of Kangra district since 1846.

(iit) Alexander Cunningham and A.T. Banon were the first Europeans to visit
Kullu in 1820 A.D.

@) The idol of ‘Raghunath ji’ was brought from Ayodhya to Kullu durmg the
reign of Raja Jagat Singh. :

(A) (i) only - (B) (i) only

(C) (i) and (iv) ' (D) (@) and (iv)

?ﬁi%ﬁﬁﬁﬁﬁﬁﬁﬁﬂﬁﬁﬁﬁﬂmiﬁﬂ?@ﬁ% ?

(1) Heel 31 TR, 1966 TF Ua T h] [&&dl @l

(i) wed 1846 ¥ wiel fet &1 TR Su-Hsd i)

(i) RS HIHTH 3R TA. F77 1820 & § wee] F A FW A Ve A A

(v) TS S foE & e d maﬁ’ﬁgﬁﬁwﬁaﬁﬁaﬁﬂéaﬁl

(A) (i) Ha= (B) (iii) HIA

(©) @) 3R (iv) U s (D) (1) 3R (iv)

21. Consider the following statements : _

(1) Bajrang Punia has become the first Indian to win 4 medals at World
Wrestling Chamionships.

(2) Ujjain has been nominated as the first ever SCO Tourism and Culture
Capital during 2022-2023.

(3) Indian Army has decided to shift the Army Day Parade of 2023 to Central
Command.

(4) Chhello Show film has been announced as India’s official entry to Oscars 2023.

Which of the above statements are correct ?

(A) (1), (2) and (3) (B) (1) and (4)

(C) (2), (3) and (4) (D) (1), (2), (3) and (4)

frfafed wuat | faar i .

(1)wgﬁmﬁrﬁm%‘hﬂﬁmﬁ4mvﬂaﬁaﬁqﬁﬂmﬂaw@%u

(2) M H 20222023 ® YA WeA aR wAAAN W I weHfy qouEh B
wq ¥ =fe fe mn 3

(3) W ¥ 3 2023 F I Row We F = FAA A @R 5@ w5 A0

foram %)
(4)@?@Eﬁfmaﬁaﬁaﬂzozsﬂwﬁaﬂmﬁmmﬁmﬁﬁﬁa
foram T )
SgF d ¥ R YT Wl ¥ 2
(A) (1), (2) 3 (3) (B) (1) ¥R (4)
(©) (@), (3) 3R @) D) (D), (2), (3) 3R (4)

TBC : 21/P/I—A 14




22. Consider the following statements :

(1) Global Fintéch Conference in 2022 was held in Mﬁmbai.

fZ) Tripura State has launched ‘CM da Haisi’ web portal.

(8) Rohit Slh‘arma has sut;passed Pakistan Captain Babar Azam in the recently
ICC T-20 rankings.

(4) District Disability Reh#bilitétion Centre is an initiative of Union Social
Justice and Emi:owerment Ministry.

Which of the above statements are incorrect ?

(A) (1), (2) and (3) : (B) (2), (3) and (4)

(C) (2) and (3) | D) (1), (2), (3) and- (4)

frafafas s w faar A

(1) 2022 ¥ Aftews frew weier §a€ H Smefom fe T e

(2) forqu T2 ¥ ‘T 71 R A WRa A= T |

(3)ﬂ1%a¥rqfﬁsmﬁﬁICCTQO%ﬁW%WWWm’r%

arg fem ) |
() Foren fosrin T g S AR A T SR e # T e
? |
IEfF # @ Y wUF e € 2
(A) (15, (2) 3R (3) B (2), (3) 3 (4).
©) (@) 3 (@3) M (1), @), 3) 3R @)

TBC : 2UPI—A 15 - P.T.O.




23. Consider the following statements : | !

(1) Telangana State has announced India’s first Breakfast scheme for
government school students._

(2) The term Prompt Corrective Action is related to framework under which
Banks with weak financial ratios are watched b];f RBI. |

(3) Amongst Union Territories Puducherry has become India’s first Swachh
Sujal Pradesh.

(4) Prime Minister has launched natioﬁal logistics policy.

Which of the above statements are correct -4

(A) (2) and (4) | (B) (1), (2) and (3)

(C) (2), (3) and (4) M (@), 2), (3) and 4)

frafafeaa wadi W faem ik .

(1) FETET T 3 W B oef @ e w # wedh e Ao )
Eal

(2)%3&@%%@%@@@%%%@@%&3@
T Fhi W FRAAE. g TR @ S | -

(3) #% Wi Wl § I 9 B Ted @ gud R 99 T

(4) ¥om1 ot % U e i g W R |

IR A ¥ I wH W@ E 2 |

(A) (2) 3R (4) ®) (1), (2) ¥R (3)

© @, @@ @) (D), @), @) 3R @)

TBC : 21/P/I—A 16 |




24. Consider the following statements :
(1) Reliance has been conferred with the ‘Rajbhasha Kirti Puraskar’ for 2021-22.
(2) Satish Adiga has been conferred with top French civilian honour.
(3) ‘Chandler Wobble' is related to Black Hole. |
(4) The new Naval Ensign features the national emblem inside blue Octagon shape.
Which of the above statements are incorrect ? |
(A) (1), (2), (3) and (4) (B) (2), (3) and (4)
(C) (1), (3) and (4) . (D (1), (2) and (3)
frafafes woAi w faar wia .
(1) femm = 2021-22 & fou ‘gwamn i @R’ ¥ gata fm mn e
(2) Tdre sfem = ¥ wEE i gEmE § gta fFE o R
(3) ‘wiger dfaa’ o A § waEd 1
(4) 9T Y9 TAEET H A6l ALHUIE AER b HARX TRF YdE® 5
Sugw # A FHY FA TeE § 2
(A) (1), (2), B) IR 4) (B) (2), (3) ¥R (4
(€) (1), (3) ¥R (4) D) (D), (2) R (3)

95. Which of the following statement/s about ‘State Food Safety Index’ for the year
2021-22 is/are correct ?
(1) Among the large states Himachal Pradesh got 4th rank.
(2) Among the small states Goa got 2nd rank.
(3) Among Union Territories Delhi & Chandigarh got 1st and 2nd ranks.
(A) (1) and (2) only (B) (2) and (3) only
(C) (1) and (3) only (D) (1) only
frefafied § ¥ PA/A FO T TR OGE GRS 96 2021 22%aﬁﬁraﬁ’f%ﬁ% ?
(1) a% A # feaee Ry F S e fren ¥
(2) B T F Tar w1 gEu s e
(3)ﬁmmﬁﬁwﬁﬁta@mﬁwﬁtmwﬁm
(A) Fae (1) $R (2) (B) = (2) R (3)
(C) e (1) 3R (3) (D) Faa (1)

TBC : 21/P/I—A _ 17 P




26.

27.

Consider the following statements :

(1) Tamil Nadu State is in the process of developing a Dugong (Sea Cow) reserve.

(2) “Blue Book” is the manual of National Security Guard.

(8) °CiSS application’ under Baal Swaraj portal is used in the context of
rehabilitation of children. _

(4) Tadoba-Andhari Tiger Reserve (TATR) is located in Madhya Pradesh.

Which of the above statements are incorrect ?

(A) (), (2) and (3) (B) (2), (3) and (4)

(C) (1) and (3) (D) (2) and (4)

frafafen ot W faemr Fifsd .

(1) dfberg Ta g (H #wR) fiod fawfaa w3 @ wfE § 3

(2) ‘= 9" U g M FH TS ¥

(3) =19 @S U & Ted ‘HETHTE TSR’ w1 Fh sewl B qAets B Ha
# forar s ¥

(4) TEE-3Y™ TR fod (Audtem) we ww A fem 3

IR H A HEY FHYA e § 2

(A) (1), (2) &R (3) B) (2), (3) 3R (4)

(C) (1) &R (3) (D) (2) 3 (4)

Consider the following statements : ,

(1) Bangladesh will host Women’s Twenty-20 Asia Cup 2022.

(2) China has successfully cloned the wild Arctic wolf for the first time in the
world.

(3) In 2023 BRICS summit will be held in Brazil.

(4) Equal Pay International Coalition is an initiative of G-20.

Which of the above statements are correct ?

(A) (1) and (2) (B) (2) and (3)

(C) (3) and (4) (D) (1) and (4)

frfafea e R four Fifsd .

(1) sreRY Hfeen H-20 wfeEm w9 2022 H ASEE] HON _

(2) 59 7 g & weell AR Sve stwkfew Afgd w1 wwemgEF Fd
AT T

(3) 2023 # foam forer woiem snia § &)

(4) §AF J09 a9 TeEu f-20 F TF Ted R

I9gF # | HAE HYA wE % 2

A @) (2 (B) (2) R (3)

(C) (3) ¥R (4) D) (1) &R (4)

TBC : 21/P1—A 18




28. Consider the following statements :

(1) Giorgia Meloni became the first female Prime Minister of Italy.

(2) Tajikistan hosted the Shanghai Cooperation Organization Summit, 2022.

(3) UAE has signed an MOU with China’s space agency to work together on
moon missions. ' '

(4) Devastating storm Nanmadol had struck Laos

Which of the above statements a;re incorrect ?

(A) (1), (2) and (3) (B) (2) and (4)

(C) (1) and (3) (D) (2), (3) and (4)

frafafed wuH W faer #:1fE : '

(1) fomifstar it gect #1 Ugel dfeen wam # &l |

(2) afafesm ¥ e gedm G e e, 2022 &P ASEE] 6|

(3) GYFa oE e A <gW fAvE W TR Wy wm S % oy wE w6 R
T F T TE dEEA 99 W e e €

(4) fmER qEF AEEEE A eld w ywifad fRAr ani

ST § ¥ Y w9 TR § 2

(A) (1), (2) 3T (3) (B) (2) 3t (4)
(©) (1) &R (3) D) (2), (3) 3R «)
99. Ukraine shares borders with which of the following countries ?

(1) Belarus (2) Romania
(3) Hungary (4) Georgi;i
Select the correct answer using the codes given below :
(A) (1), (2) and (3) only (B) (1), (3) and (4) only

(C) (1), (2) and (4) only D) (2), (3) and (4) only
e, Frefafeag § § f6 S8 & @y €@ W s ' 2
(1) e (2) At
(3) T (4) wifsfn
d= fed T 2 F WER H AE T G -
(A) = (1), (2) 3R (3) (B) Had (1), (3) 3R (4)

(C) Faa (1), (2) R (4) (D) &= (2), (3) AR (4)

TBC : 21/P1I—A 19 P.T.O.




30. Consider the following statements :

(1) UNICEF appointed Vanessa Nakate of Uganda, climate activist, as the
Goodwill Ambassador of the UN Children's Fund.

(2) ‘Meritorious Service Medal’ to Admiral Sunil Lanba, former Navy Chief
of India was awarded by Singapore.

(3) Germany is the host of the World Water Congress and Exhibition 2022.

(4) Qimingxing-50 is the name of the first fully solar-powered UAV of South
Korea.

Which of the above statements are correct ?

(A) (1) and.(2) (B) (2) and (3)

(C) (3) and (4) (D) (1) and (4)

frefafed oAl ® four Fifed .

(1) IR 3 el F AT HEwG N AFR TR T A B B GG
o Fra e

(2) fomge gR1 WG & g AR ygE vefre e @t @ A dea wE d
T feran

(3)aﬂﬂ?ﬁsﬁﬁa$ﬁﬁa¥nmﬁrzozzwﬁmﬁ%| |

(4) Qimingxing-50 & Hfr & wgel T wWe ¥ R IS § 9ol a1 UAV F1

T ¥l
IR ¥ wY FT wE ¥ 2
A) (1) 3R (2) (B) (2) 3R (3)
(©) (3) i (4 | (D) (1) 3R (4)

TBC : 21/PI—A 20




31. Consider the following statements :

(1) U.N. Secretary-General Antonio Guterreé appointed Roza Otunbayeva a
former President of Kazakhstan as his new special envoy for Afghanistan_.

(2) Russia has:become the first country to approve the world's first needle-
free, inhaled version of the COVID-19 vaccine.

(3) As per the latest figures from the IMF (September 2022), France economy
is the fifth largest economy in the world.

(4) China is the President of the G-20 in 2022.

Which of the above statements are incorrect ?

(A) (1), (2) and (3) (B) (2), (3) and (4)

(C) (1), (3) and (4) (D) (1), (2), (3) and (4)

frfafad ol ® fer wf

(1) Wged g TerateE GARE TEE T AEmiEEE $ oy o qu fasia @ F w9
# FEEE & 98 TR A sTeERe W g

(2) ¥9 FfA8-19 91 & gF & 7ot LT, Fece GHU 1 Aol 2 aren
Teedl < F T € .

(3) Sﬂi@w (fadsr, 2022) &% a9 i) & IR, W9 Ht Adf=mgen g
1 dedl wad 9t srdferaTen ¥

(4) 2022 § A S-20 F AW ¥

IR § § IAY FHUA TeAd € ?

(&) (1), (2) 3R (3) (B) (2), (3) ¥R (4)

©) (D), 3) 3R 4) D @@, @

TBC : 21/P/I—A 21 P.T.O.




32. Match List-I with List-II :

List-I ' List-11
- (Winter Olympiés Games (Medals won)
Beijing, 2022-Country)
(@) China_ @ 37
(») Germany (i) 25
(© Norway o ' (i) 27
(d) United States of America (iv) 15
Choose the correct answer from the options given below :

Codes :
(@ B) © (@)
A Gi) G G 6
B) Gv) Gi) G G
©) G) @ G o)
® & GD G G
-1 1 g g I A faem ifsd .

elt-1 -1
(v oiwiiuer @er &ifST, 2022-29) (e Sita)
(@ == G) 37
(b) s (@) 25
¢ & (iii) 27
(d) T Toa i ) 15

e e W fared § A SW W T wfEd
*E
(@ @) @© @@
(A @) @) oy @)
B) Gv) G O )
C) @ @ ) G
M & @ G Gv)

TBC : 21/P/1I—A 22




33. The Airavateshwara temple at Darasuram was built by :

(A) Chola King Rajaraja-II B) Chola King Rulsthunigs TiT
(C) Chola King Parantaka-I (D) Chera King Nedum Cheralathan
TR & Weaver wfer &1 fafu e s o 2
(A) =& TS eae-11 (B) = TS HAIgm-II1
(C) =1 TN FU=H-1 (D) =R T IgH Sered
34. Which among the following Drama}B'ook was not written by famous poet Bhasa ?
(A) Karnabhara (B) Urubhanga
(C) Dutvakya (D) Shishupalvadh
frafafes 4 @ <@ ow/9F wfag =i 9= g fafes <8 & 2
(A) FUUR (B) &M
(©) e (D) ferqareray
35. Which pair is not correctly matched ?

Foreign Traveller Country associated
(A) Pietro Della Valle French (France)
(B) John Fryer England
(C) Niccolao Manucci Italy
(D) Joannes-De-Laet Dutch
I Sel () W gAfaa & ¥ 2

ferelt amsht qafta o
(A) T e & e (%)
(B) S AR ESLS]
(C) Tl w=t Tl
D) SH-gt-ame Bl

TBC : 21/PI—A | 23 PT.O.




36.

37.

38.

39.

Who was the author of the book “Tarikh-i-Rashidi” ?

(A) Ahmed Yadgaar - (B) Mirza Haidar Dughlat

(C) Gulam Hussain (D) Shaikh Rizqullah Mushtaqui
“IiE-T-UREY o) o dEE w2

(A) IETR TRIR (B) frei T grema

(C) 7™ gHa (D) Y@ fiowseome qyamR!

Who was the founder of “Indian Association for the Cultivation of Science”
(1876) ?

(A) C.V. Raman (B) Mahendralal Sarkar

(C) Father Lafont (D) Ashutosh Mukherjee

feT wEfauyE ®R fT wediav % WEW (1876) 1 WEUH & o ?
(A) Hta | (B) WeSElel HEHT

(C) FRT dATH=E (D) SgEE qEsi

Who said, “Lord Ripon, the savior of India and his rule-the begihning of a
Golden age in India” ? |

(A) Florence Nightingale (B) T.E. Roberts

(C) Lovat Frazer (D) Eric Stokes

frer ome Roa <1 '9Ra #1 SgRE! FE AR SHE U $ 4RG § @iy
F S Fl''? |

(A) IR Al (B) W wedH

(C) w2 W D) T B

Who said, i‘Raja Rammohan was the only person in his time to realise completely

the significance of the modern age” ?

(A) Aurobindo Ghosh (B) Rabindranath Tagore

(C) Sumit Sarkar (D) Barun De

o w@ % ‘oo wwa § Ton e € W@ =i 9 R snyfre g @ wee
H '’ ? |

(A) erfee = (B) =g &R

(C) g &R (D) =¥ 2

TBC : 21/P/I—A 24




40. Which among the following books was not written by Dr. B.R. Ambedkar ?
(A) The Annihilation of Caste
(B) States and Minorities
(C) What Congress and Gandhi have done to the Untouchables
(D) India in Transition _
Frefafen § 4 #90 @ o @R smsew gR fafew T ot ?
(A) T TfHfectom &fs Fre
(B) V@ we ABAREN
(C) == Fhw Tg T B T 2 s
D) e == Zfsrer

41. Which pair is not correctly matched ?

Education Commission/ Year

Committee
(A) Sadler University Commission 1917
(B) Hunter Education Con;mission 1887
(C) The Hartog Committee ' 1929
(D) Indian Universities Act 1904
w1 () wE gAfed A@ ¥ 2

e smatn/afafa CL]
(A) ¥eer favafommea amdm 1917
(B) &= foranm amam 1887
(C) =M wfufa 1929
(D) wRetg favafaemem wfufem 1904

TBC : 21/P/I—A 25 P.T.O.




42,

43.

44.

45.

R

Where was the “Indian Independence Committee” set up by Lalé Hardayal
and his friends ?

(A) Rome (Italy) . : (B) Berlin (Germany)

(C) London (England) (D) Paris (France)

AN BEAE SR TAE WUE ® G 9RGG WadAa §Hta #1 T @l
T ot 2 |

(&) Tm (geei) (B) e (i)

(C) = (Feive) (D) " (FE)

Milam glacier is located in :

(A) Karakoram region (B) Pir Panjal region
(C) Nepal region : (D) Kumaun Garhwal region
faem femme fee % |

(A) FREHRA &9 F (B) R Yo & H

(C) 7urel & #H (D) A TEETE &% H
Zojila pass is located in :

(A) Punjab Himalayas (B) Kumaun Himalayas
(C) Nepal Himalayas _ (D) Assam Himalayas
Sirsfren X o ®

(A) e feaer d (B) 7 fewe d

(C) A femrer # _ (D) sww feaem #
Vadinar oil refinery is managed by : |

(A) Reliance Industries (B) Bharat Petroleum
(C) Essar Oil Ltd. (D) Hindustan Petroleum
AR I wuF FREM F FEud e s T o

(A) fer= e gr (B) wRa Tfesm gm

(C) TR sa fafres g D) fegwm Wfaad g

TBC : 21/P/I—A 26




46. Which of the following countries is landlocked ?

(A) Peru (B) Bolivia
(C) Surinam | (D) Uruguay
Frerferfian & @ e T wRE @ R g § 0
(A) T% (B) afafan
©) T - (D) s&Td

7. “Wiisee ave the Buledric ilands Tooted 2
(A} Mditerranoan Soa (B) Black Sea
(C) Baltic Sea (D) North Sea
SR 2 wr wel W fem ¥ 2
(A) Y99 AR (B) <hlell €R
(C) wifee® R (D) W TR

48. Turkey is located between :
(A) Black Sea and Caspian Sea
(B) Black Sea and Mediterranean Sea
(C) Gulf of Suez and Mediterranean Sea
(D) Dead Sea and Black Sea
i frefafea § 4 fegs o9 fem § 2
"(A) W R SR A W
(B) el WrR 3R HeA A
(C). @ i Wl 3R yuea TR
(D) T@ TR R HE AR

TBC : 21/P1—A - 27 PT.O.




49. Flemish are the tribes of :

(A) Croatia (B) South Africa
(C) New Zealand | (D) Belgium
TAfHY Sl 1 wey ¥
(A) wrefo | (B) =ferlt s &
(C) =gsfierve | ! (D) sfesam R
50. Make a sequence of the following countries from North to South :
1 Romania (2) Bulgaria
(3) Ukraine ' . (4) Greece

Choose the correct answer from the options given below :
&) (1, @), @), @
B) 3), (1), (2), (4
(©) @), 3), @), (1)
D) 3), 2), @), (V)
2 g T owsd B TR @ <hm B owm f e
(1) T (2) oA
(3) Ik @) T
ﬁ-ﬁqmﬁwﬁévﬁmmwaﬁm:
A) (), (2), 3), 4)
(B) (3), (1), (2), (4)
(C) 4), 3), ), 1) .
D) (3), (2), 4), (1)

TBC : 21/P/I—A 28




51. Match List I with List II :

(a)
(b)
(c)
(d)

Choose the correct answer from the options given below :

List 1
(Sea)
Black Sea
Red Sea
Yellow Sea

Caspian Sea

List II
(Country)
(7  Bulgaria
(@) China
(zit)  Eritrea

(iv) Kazakhstan.

@ ® @© @
A) G Gv) G) GiD)
®) G Gi) 6 G
© G GG G G
D) G Gv) G Gi)
Al I gat 118 fderd sifod
g 1 : =it 11
(W) (=)
(@) HT TR (@) o
(b) M TR )
(¢) W "R Gii) ERfgm
(d) wferm TR (iv) TR
4 fer ™ fowed 4 ¥ W@ F gEE HE ;o
(@ B @ @@ -
(A G) G G) @)
B) G GiED) G  Gv)
© & G G) )
D G) G @ G

TBC : 21/PI—A
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P.T.O.




52. Match List I with List II :

(@)
(®)
()
(d)

List I
(Mineral)
Mica
Bauxite
Manganese

Copper

List II
(Place)
(@)  Khetri
(iiy Hazaribagh
(zzi) Palamau

(v) Keonjhar

Choose the correct answer from the options given below :

@ ®& © @

gt 11

(=)
G) wagt
(if) B
(i) TrATq

(A) G Gv) @) G

B) @) G ) 6)

©) Gi) Gv) ) i)

D) Gi) @) 6 Gv)

I # g 1@ frem St .
T 1

- (@)

(@) AYS

(b) SfFmEe

(€ W

(d) e

(iv) =R

ﬁmﬁﬁwﬁﬁﬁnﬁmwﬂﬁﬁ:

(A)
(B)
©
(D)

(@ &) @ @@
@) @ @ G)
@ @@ @) @)
@ (@) | @ @
@) @ O (v

TBC : 21/P/1—A
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53. Match List [ with List II :

List

I

(Dam)

(@) Nagarjun Sagar
(b) Matatilla

(c) Maithon
(d) Hirakud

Choose the correct answer from the options given below :

(a)
(A) (i)
B @
(C) @)
(D) G)

(®)
@)

(iv)
)
(&)

(e)
(i)
(iii)
(i)

(zi1)

(d)
(iv)
613)
@)
@)

List II
(River)
(i)  Mahanadi
(zt) Barakar
(iif) Krishna

(iv) Betwa

el 1w g 109 e wifs

Ll |

(=)

(@) AT ER

(b) HERE
) HA
(d) TEHE

=t 11
&)

() HeEel

(f) SIUHRR
(zir) oM
(fv) S

= fou T fowedl § ¥ W& w1 9@ FiA

(@)
(A) ()
(B) @
(G @)
D) )
TBC : 21/P1—A

®)
@

(iv)
(iv)
@)

(e)
(i)

(ir)

(i)

(1)

(d)

(iv)

(D)
)
@

31
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64. Who decides the matter of disqualification of MLA for matters other than those
given in the Tenth Schedule of the Constitution ?
(A) Speaker Legislative Assembly
(B) High Court
(C) Governor

(D) State Election Commission

T fayH |91 & Ha= ®1 srrgar &1 fofg, Gﬁuﬁaﬁaﬁaﬂﬁaﬂrﬁﬁ%aﬁrﬁaﬁ
q, B F@ R 2 |
(A) faum @ ereme
(B) S=a =TameH
(C) 99
(D) w9 frat=a smm
99. Which Article of the Constitution of India bars a Member of Parliament from
holding an office of profit under the Government of India or the Government
of any State ? |
(A) Article 100(1)(b)
(B) Article 101(1)(c)
(C) Article 102(1)a)
(D) Article 103(1)(d) |
WA WU 1 HH-T SR Rl 9 1 YR TR 91 T aeR §
AVER W TR FA W WAy @ ¥
(A) =R 100(1)(b)
(B) =R 101(1)(c)
(C) == 102(1)(a)
(D) FTT=T 103(1)(d)

TBC : 21/PI—A 32
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56.

o7.

58.

What is the object of cut motilon ?

(A) To reduce income tax

(B) To reduce excise duty

(C) To reduce expenditure in the.Budgét proposals

(D) To reduce plan expenditure

FI TR HT A SeYT AT ¥ 0

(A) SIS H HZAT (B) IR EF W

(C) = JwmE & @e d ®wAd (D) Do weE A wOn

Through 73rd Constitutional Amendment Act 1/3 seats for the women are
reserved in the Panchayats under which Article ?

(A) Article 243-A (B) Article 243-B

(C) Article 243-C (D) Article 243-D |
A & 739 G W g e d wfEenst 3q 13 e w s S AR
% sl fom ¥ 2 _

(A) AT=x 243-A | (B) =< 243-B

(C) 3= 243-C (D) &=} 243-D |
When any official does not perform.his duty, High Court/Supreme Court can
issue which writ ? |

(A) Habeas Corpus (B) Prohibition

(C) Mandamus (D) Quo Warranto

Al 1 SUERT oo Fefer w1 T Frefe T R & o wew /A e
FA-T Y T Fw@ E 2

(A) == weagfianzo (B) wfauy

(C) ARy : (D) AfFR =

TBC : 21/P/I—A 33 ‘ P.T.O.




: (
59. Which Articles have been inserted to provide reservations for Economically

Weaker Sections (EWS) in 2019 ?
(A) Articles 15(1) and 16(1) (B) Articles 15(2) and 16(2)
(C) Articles 15(4) and 16(4) (D) Articles 15(6) and 16(6)
anfhe w9 § fusgl ot ($eeg.U8.) &1 e YaM 37 3 Foh erg=exl =1 wfimfd
forar @ 2
(A) sT=< 15(1) T& 16(1) (B) T=x% 15(2) T 16(2)
(C) =% 15(4) T8 16(4) (D) =% 15(6) T 16(6)
'60. The purpose of an adjournment motion is to :
(A) Seek the leave of the House to introduce a bill
(B) Censure the Government
(C) Propose a reduction in the budget _
(D) Draw the attention of the House to a matter of urgent public importance
TR YIS 1 Se¥d F BT ¥ 2
(A) fufraq gegfd ' W8T ¥ @ &
(B) ¥R W JY fad=m &ww
(C) o2 H FAA Y@ U FA
(D) a1 & Ifd WewEqul faua W TWHR FHT HEEHE B
61. Judiciary in India enjoys the power of Judicial Review on the principle of
“procedure established by law” which means :
(A) Judge in India can declare a law invalid simply because in their opinion
the law is not due
(B) Judges in India can question the validity of undue law even if it is within
limits of the constitution
(C) Judges in India cannot question the validity of law, provided it is within
the limits of constitution °
(D) None of the above
e - H grifas e gEiaw &1 sifysr Cfafu g enfe g & fage
WA FH §, fowe o ® fE
(A) =raete it ot HFE FT A T YR W EY g X FEal §, FifE
394 faur d 97 v ¥
(B) =Yl 3§ FIF &I off SEvIHal & MUR W @Y Nfed H Geal €, =R
g% wfaum =t dmel J§ @
(C) Il 39 FFA F AUA W WA T 33 Whdl R 9% wiawr & desi A ¥
D) SHF § ¥ #E & |
TBC : 21/PI—A 34




62. Regarding the Interim Government of 1946 which of the following is not correct ?
(A) Jawaharlal Nehru was the Prime Minister/Head of the Executive Council
(B) Jawaharlal Nehru was designated as the Vice President of the Viceroy’s
Executive Council
(C) The Viceroy continue to be the Head of the Executive Council
(D) The members of the Indian Government were members of Viceroy’s

Executive Council

1946 T o<RA TR & o & f & § =0 wd 48 T 2
(A) SO TEE WA HH/FEER aivg & wgE 9
(B) VOTRIEE TBE H AEEE B hEGR UG F IWAYG T T
(C) IFHE wMEHRl aeg ®1 W@ &4 @
(D) YRA TR & W AFE H FEF wRNg B w_E )
63. What dofyou understand by “Zero Hour’ in the Indian Parliamentéry Procedure ?
(A) The time at the end of the question hour and before the debate on other
agenda of the day
(B) Time just before the question hour
(C) When any special privilege motion is accepted
(D) First hour of the session
W TEEH gt v’ @ g an osfune &2
(A) WTHE F WR T I G H Tww ¥ wd F ww
(B) W™ | 3% U & WHY
(C) = foet i =1 wem R R @
(D) ¥ H TgEl A
TBC : 21/P/1—A 35 i+ PTO.




64. What constitute definition of Money Bill under Article 110 of Indian Constitution ?
(A) The imposition, abolition, alternation in regulation of any tax
(B) The regulation of borrowings of money by Central Government
(C) The appropriation of money out of the consolidated fund of India
(D) All of the above .
et S % Sk 110 % swia o Fad F wfern § s ahe fe
v g 2 :
(A) R ot F A A, e, wReR, wRede swEr fafEe s @
(B) %% WHR §W SR fau wu v & fafrmm ¥ wafud @
(©) wra F W Ffa A o F W T A o P @ et
D Wﬁaﬂ quft
65. What is the current position of representation of Anglo-Indians in the Lok Sabha ?
(A) T'wo Anglo-Indians arc nominated by Lhe President
(B) One Anglo-Indian is represented
(C) Nomination of them has been done away with by 104th Constitutional
amendment |
(D) They are nominated as per their population
6 T H A A sTe-vRdd & wiififaa @ @ fofs ¥ 2
(A) Tgufa g0 @ sE- R T Ry i §
(B) % Fra-uRda wlafifee s ¥
(C) WfE¥M F 1043 TSR g 991 AHHT WAG F e T R
(D) 3% T REN F ATEY WA e o ¥
TBC : 21/P/I—A 36 |




66. Given below are two statements :
Statement I : Accordiﬁg to a World Bank working paper, extreme poverty
in India dropped to 10.29’*'5 in the pre-Covid year of 2019 from as much aé 22.5%
in 2011.
Statement II : The paper uses the Consumer Pyramids Household Survey
(CPHS) to provide estimates of how poverty and inequality in India have evolved
since 2011.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement IT are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorroect
(D) Statement I is incorrect and Statement II is correct
T @ @y faw ge § . |
w7 1 : fava &= & afen T @ srEr, YA H s et 2019 @ qd-Hifae
¥ § weEt 10.2% A T, S 2011 F 22.5%
Wllzwwﬁw*ﬁwﬁuﬁgaﬂﬁw (SrfiTemd) =1 37Em 7 e
o & fau e o ¥ fF 2011 @ YR H IS SR seEEar 9 faesfaa g ¥
ST o B MR R A R T et # ¥ woifirs sugeE 3w i -
(A) o7 1 3R wom 11 W et &
(B) ®9T I IR HeA 11 SFF o ¥
(C) ®o7 1 Wel & &R @em I woig &

- (D) B I TR ¥ SR w1 W R

TBC : 21/P/I—A ' 31 P.TO.
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67. Given below are two statements :
Statement I : Development expenditure of the Central Government does not
include defense expenditure and grants to states.
Statement II : Non- development expendlture involves Interest payments and
Subsidies.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct

 (B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
9w o Mo F .
w1 : & TR % fawm =g #§ 9 =59 o Uwdl &) g wfga A€ ¥
g I : R-fovm =@ & =99 gram iR afsast wime §)
I woAl B SR R A9 fau U fawmed # @ walfuw svgEa s W 9 i
(A) FoF 1 IR *y 11 SF 9&r &
(B) & I 3R weA II SF1 7o &
(C) %97 I W& ¥ 3R wveM II Tora &
(D) %7 I Teld ® 3R Fod I |8 &

68. Given below are two statements :
Statement I : Deficit financing cannot _create inflation in an economy.
Statement II : If RBI reduces the cash reserve ratio, the credit creation will
decline.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
= @ Fw kg M@ ¥
w1 : w2 w1 famdem et aederar #§ qrewifa A€ w91 Gwar 2 :
wIT I : 3R SREtemE v fed s/ werm & o $fee gom #9 & wom
m@mmﬁwmmﬁﬁqwﬁmﬁﬁmﬁwwwmwﬁm
(A) F¥ 1 &R wed 11 <9 W) ¥
(B) w7 1 iR wuq II S Tom
(C) %47 1 8l ¥ R oA II 7o ®

(D) F49 1 7Teld & 3R w9 11 99 §
TBC : 21/P/I—A 38




69. Given below are two statements :
Statement I : Low-income countries (LICs) and lower-middle-income countries
(LMICs) have high prospective growth rates and high marginal productivities
of capital.' |
Statement II : They should borrow, and borrow heavily, in order to ﬁnanlce
a broad-based increase in investments on human capital (education and health),
public infrastructure (power, digital, water and sanitation, transport) and
environmental protection.
In the light of the above statements, choose the most appropriétg answer from

- the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
= wum gy e ¥
FT 1 : -7 ol 2l (warende) iR frer-mem-amg a9 A9 (werameTE)
# 3eq W e o ok $ # s S s E
e 1N : wa st (R sl w@meen), ot gfmd @ (frod, fofre, wr
¥R T, WReE) R vateRr e W R § wmw snuR Wty @ fam
& fau 3% SuR & =1few @ik o =En § suR S =few
ITYF BUA b AER R AR g T frewedi § | waifud v s w1 99w Hif
(A) w1 &% Fo4 11 9 udt §
(B) %41 I I her 11 GFi T §
(C) F¥ I W&t & iR Fud II o %
D) HF [ 7Te@ T 3R Fo 11 98 %

TBC : 21/P/I—A ' 39 | P.T.0.




70. Given below are two statements :
Statement I : The average SDG Index score declined in 2021 as compared
to 2020, partly due to slow or non-existent recovery in poor and vulnerable
countries.
Statement II : Among G20 member states, the United States, Brazil and the
Russian Federation exhibit most support for the 2030 Agenda and the SDGs.
In the light of the above statements, choose the most appropriate answer from
the options- given below : |
(A) Both Statement [ and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement IT is incorrect
(D) Statement T is incorrect and Statement II is correcl
= g sy R e ¥
awmhzmoﬁgmﬁzozlﬁafmmr&ﬁé@wazﬁnﬁwm,aﬁﬁw
w9 § TG SR FEAR W F i w7 B wwen R @ ww
w11 : G20 9 9§, Tgaa w1 31ifiart, srsfter ot s« 99 2030 wier 3k
e & fau gaf afys gud wefim =@ ¥
Wmﬁ%&wmwﬂ%ﬁqmﬁamﬁﬁﬁwﬁwwmmwaﬁm:
(A) ®¥A I 3R &A1 <FF wd
(B) oA I 3R F9q I <M Tom &
(C) #oF I W&l & 3R Fu7 II Terd &
(D) %4 1 Tod & W Hod I 96 &

TBC : 21/P/I—A 40




71. Consider the following statements -

(1) If Indian economy is in equilibrium at the point where plans to save and.
to invest are equal, then gbvrnﬁient expenditure must be equal to
government income

(2) In pursuance with the recommendations of Narsimham Committee, the
RBI has framed new guidelines to setup more foreign exchange banks

(3) Redistribution policies geared to reduce economic inequalities include
progressive tax policies

(4) The currency convertibility concept in its original form originated in Taylors
Agreement

Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (2) and (3) only

(C) (1) and (4) only (D) (2) and (4) only

fFrafafe #odi w fomm Fifm |

= ol uﬁwmaﬁmawwﬁgwéwﬁ%aﬁw@nﬁémaﬁmw
g, W WE o WEH o F e & = ,

(2) s wfafy 1 fawfel & e 8, e ¥ st fadeh g 9% wfag
W & fag 7 fen-fw dar feg ¥

3) e sremmael B #9 w Ay SR e A § e w5t AR
e § |

(4) 51 TR sEERen o qw w1 § dord wwwn # s g

W Y el 4 ¥ 9 oW T HEE

(A) ®aa (1) 3R 3) (B) #dd (2) 3R (3)

(©) I (1) 3R (4) (D) == (2) 3R (4)

TBC : 21/P/1-A 41 PT.O.




72. Consider the following statements :
(1) Gross capital formation consists of outlays on additions to the fixed assets
~ of the economy plus gross changes in the level of inventories

(2) Net value added at factor cost is the sum total of all the factor payments

(3) The National Income is the total amount of income accruing to a country
from economic and non-economic activities in a year time

(4) In moving from national income to personal income we must subtract the-
incomes earned but not received and add incomes received but not currently
earned

Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (2) and (3) only

(C) (1) and (4) only (D) (2) and (4) only

frerffin e T foar Hif

(1) wha Yot fmfor # sreforaen @t sea wvfwd # gfe w wfem ok g=t &
W A " e e ¥

(2) FNF M W S TN YE JouaHT wh FRF PRE w1 oAam §

(3) T o7 fFd v W U 9¥ § e iR R-enfie wfafafidi |/ 29 ared
IE H FHA TET ¥

(4) T o § e o § W % fou o o # T afE wa T e
3 I A AIfeT R IF A HI SIS @Ifeq S UK g lfed aaEd H

sfoa & &
= @ Tu faged ¥ 4 Wl ISW H TEF AT s
(A) ®aa (1) 3 (3) (B) = (2) 3 (3)
(C) &Fa (1) 3R (4) _ (D) Haa (2) 3R (4)

TBC : 21/P/I—A 42




73. Consider the following statements :

(1) The green economy could add more than 54 million jobs worldwide by 2030

(2) World over the additional inve;tment to avoid future pandemics is estimated
to be only $15 billion a year

(3) Over 90 percent of countries saw their HDI value drop in either 2020 or
2021

(4) The economic gains from phasing out coal could amount to as much as
1.7 percent of global GDP every year

Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (2) and (3) only

(C) (1) and (2) only (D) (3) and (4) only

frfafea werl w faar #fd

(1) &R srefemeean 2030 7% gfmn s § 54 fuferem @ siferss Sl | S g
g

(2) gfran ) H, wﬁwﬁwﬁﬁﬁaﬁ%@aﬁrﬁwﬁ%wﬁaﬁﬁaﬂs
fafea @7 &1 sgam R

(3) 90 wfera & sifereh <9l T 2020 @1 2021 F o9 v T F fivme dwh

) mﬁaﬁmaﬂ%ﬁa‘aaﬂ%ﬂaﬁwaﬁquamﬁﬁwm
WY IR F 1.7 WRRE A gwa 3

T &2 e fawed § @ W@ W W o Fhwm

(A) Faa (1) 3l (3) (B) == (2) 3R (3)

(C) & (1) 3R (2) (D) = (3) &R (4)

TBC : 21/P/1—A 43 B0,




74. Consider the following statements :
(1) The Positive Peace Index measures the positive peace of 143 countries
(2) It covers 59.6 percent of the world population
(3) Positive peace is defined as the attitudes, institutions and structures that
create sustain peaceful societies
(4) It is based on more than 45,700 data series
Choose the correct answer from the options given below :
(A) (1) anci (3) only
(B) (2) and (3) only
(C) (1) and (2) only
(D) (3) and (4) only
fafafen waH | faar Fifd »
(1) TFNEF M GIFF 143 R H GhRAS W1 B AR ¥
(2) 3@H fava =t 59.6 Wl eert wite ®
(3) THWH Wifd ® A g, denel oiR dremel & w9 F uftwfh fe
S ® S srifagel WS @1 fEiv o weReE w1 §
(4 FE 45,700 ¥ SR 2 WS Wi @
T fed T fawedt 4 | W& SW W = SN
(A) wa& (1) 3R (3)
(B) #ad (2) 3 (3)
(C) e (1) 3R (2)
(D) e (3) 3 (4)

TBC : 21/P/1—A 44




75. Consider the following statements :

(1) The Global Health Security Index is a measure of pandemic (COVID-19)
preparedness _

(2) Compared with the rest of the world, a higher percentage of people in OECD
countries tend to be covered by public- or mandatory private health
insurance

(3) "30 x 30" target relates to poverty eradication

(4) World over, cities and other urban areas are home to around 25 percent
of humanity

Choose the correct answer from the options given below :

(A) (1) and (3) only

(B) (2) and (3) only

(C) (1) and (2) only

(D) (3) and (4) only

freafafen Fort W faar Fifm -

(1) Sfvah W@ Qe qFF® Temhd (COVID-19) F Faifcd &1 & fme &

) g & st fewdll w1 gom 4, sheit 29 # it 0 o v whree SdefE
1 Ahad st e sftw g waw fe W B

(3) "30 x 30" &I T SV ¥ Hatyg ¥

@ TR WO, R SR o weh 8 o 25 whw e & S

A @ Ty famedt F ¥ W oIw w ww s

(A) F7@ (1) 3R (3)

(B) ®9d (2) 3R (3)

(C) Faa@ (1) 3! (2)

(D) %= (3) 3R (4)

TBC : 21/P1—A 45 P.T.0.




76. Match List I with List IT : :

List I

(@) Gini coefficient

(b) PISA score

(¢) Human Trophic Level

(d) Palma ratio

List 1I
a measure of the energy intensity
of diet composition
assesses how far students near the
end of compulsory education have
acquired some of the knowledge

and skills thét are essential for full

_ partiéipation in society

measures the extent to which the
distribution of income among
individuals or households within
an economy deviates from a
perfectly equal distribution

The share of all income received
by the 10% people with highest
disposable income divided by the
share of all income received by the
40% people with the lowest

disposable income

Choose the correct answer from the options given below :

(@ B @ @@

A GiD) @) 6 )

®B) G) GE) @) Gv)

© @ G) G i)

M G) @ G G
TBC : 21/P/I—A




T IR g I & Wy ghfed s

gt 1
(@) ﬁﬁ"}W
(b) dH R

- () HFa fw @R

(d) Tremn STqud

@

(i)

et 11
Wmﬁwmﬁﬁ@m
Tg AheH H § B it fren & of
® w9 B ¥ w9 F9 @ Fve o

- fag ¥ S gue F oot wrier @ fe

(12k)

(tv)

savEE ¥

e ® foR few s qw uw sreforaeen @
Wi =ferrl = afErl & i e #1 fae
9 @ § e famw & faufaa a3
=Y fewdsiee o 3t 109% i g wre
Tt 37 1 o 9o w9 ferdne am
I 40% @ B WW e em B few)
¥ fawfsa @ &

ﬂ%ﬁqwﬁaﬂh’ﬂﬁuﬁmrﬁwﬁm:

@ ®) ©
(A) @) G) )
B) @) Gi) &
© & @ G
D) G) @& Gv)

- TBC : 21/P/I—A

d)

()
(tv)
(2ir)

(i)
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77. Match List I with List II :
. List I

(@) Conglomerate

() Golden handshake

(¢) Blue Chip

(d) Laissez Faire

(©)

(i)

(ii1)

@)

List II
The company that has acquired
interest in different industries by
taking over or merging with other
companies |
an economic system in which
transactions between private
groups of people are free from any
form of economic interventionism
an employment agreement which
states that the employer will
provide a significant severance
package if the employees loses
their job
stock in a stock corporation with
a national reputation for quality
reliability, and the ability to
operate profitably in good‘ and

bad times

Choose the correct answer from the options given below :

@ @& @© @@

(A Gi) G) @ G

B) G G @O Gv)

© G G G (@)

O @G @ G D)
TBC : 2/P1—A
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Fgﬂ"rlﬁrﬁtuﬁmgﬁﬁaaﬁm:

el |
(@) FfEmz

(b) Tesd Tevrw
(c) =7 fuy

d) a8 &

=t 11

@) agmﬁﬁmmmﬁﬁamafw

1 foer % fafe=r seivil § feerd wife
ol -

(if) @wﬁmmmﬁw%ﬁsﬁu@
® T -39 ot it vHR  onfie smay
Sgmdm F oyt

(@) T AR wwehar fomd %1 o % 5 4l
Wﬁwﬁ%ﬁ@éﬁ%ﬁ%w
TeE ok Y v s ,

@) T, foveeriam o ord ik R wmg
AR FY § wEIfd F B & forg
T gfasar a1 wehE

ﬁmmﬁmfﬁ@uﬂmmwﬁm:

@ & © @
@A) Gi) G O (o)
B) @) Gi) @) (tv)
© @ Gi) Gu) i)
D G 6 - @) G

78. ‘Day Zero’ refers to which city as South Africa ?

(A) Johannesburg
(C) Cape Town

(B) Durban
(D) Pretoria

‘@Gﬂﬁ'mmzﬁmﬁm%mmﬁ%?

(A) Sirg~gert

(C) H9eEA -
79. ECOLEX is controlled by :

(A) FAO -

(C) UNFCCC

ECACa i 1y Fra=mr % :

(A) TRTa #

(C) I.wwr.Ht.atH. =7

TBC : 21/P/I—A

(B) s@A
(D) it

(B) CSD
D) IPCC

(B) WM.T®EN =
D) ettt =

49 | . P.T.0.




80.

81.

82.

83.

Most of the air pollution that we experience is located in :

(A) Mesosphere (B) Thermosphere

(C) Stratosphere (D) Troposphere

a91g Yquu & sifueman feem frafafen 4 & frad @@ ¢ 2

(A) 98 Hed (B) d9HsdA |

(C) wHaTTHEd (D) &ived

Deep underground reservoir of water are called as :

(A) Karst ‘ (B) Aquifer

(C) Buffer - (D) Baseflow

TR YfFE Sl B WUSR H Wl ST i '

(A) &R o (B) SAyd

(C) I® (D) SMYRYd Ware

Who gave the concept of biodiﬂ*ersity hotspots ? |

(A) E. P. Odum (B) Norman Myers

(C) James Lovelock (D) Rachel Carson

Safafaua gleware # s@uRen fHe 2

A) 3 . sieq B) A A

(C) S wEas® (D) Y= HRET

Which of the following sanctuaries is not known for tigers ?

(A) Kawal Sanctuary (B) Kaziranga National Park
(C) Dudhwa National Park (D) Hazaribagh National Park
frafafes # @ fFg swvarRva #1 TR & fau T& s S § 2

(A) Had AT (B) wHSRM T FeA

(C) gy T S (D) eS=rT U SaH

When was the process of identifying the key Biodiversity Areas started in India ?
@ 1972 (B) 2003 |
(C) 1998 _ (D) 2007

R A wE Safafayd &3 ) weEEd w1 wHA s 9o e o ?
(A) 1972 (B) 2003 '

(C) 1998 (D) 2007

TBC : 21/P/I—A - ' 50




85. Match List I with List II : -

List I List II
(Air Pollution Incident) (Country)
(@ Meuse (1930) () England
(6) Donora (1948) (@) India
(c) Bhopal (1984) (1) USA
(d) London (1952) (v) Belgium
Choose the correct answer from the options given below :
(@ b)) @© (@
A Gv) Gi) G @
(B) Gv) G G) G
© @ & G @)
D) Gw) Gv) G) @)
AT w R IR e st
| Tt 1 gt 11
(arg yguuT Trem) Gty
(@) f7g¥ (1930) () e
(b) THRT (1948) () wrd
© e (1984) i) TR,
(d) &= (1952) (v) Afesmm
ﬂ%ﬁqwﬁwﬁﬁﬁnﬁwwwﬁﬁn:
@ @& @© (@
A @ G G @
B) Gv) G @) G)
©) G O G G
D) @) Gv) G) G)

TBC : 21/P/I—A
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86. Match List T with List IT ; :

List I List 1I
(Plant Name Local) (State)
(@) Toona (1)  Telangana
(b) Khejri () Manipur
(¢} Alder (zzi) Rajasthan
(d) Jammi (v) Nagaland
Choose the correct answer from the options given below :
@ ® © @ |
(A) @) Gi) @ (@v)
B) G) G G @
©) @ G @ @)
M Gip) Gv) @ @)
T 1w g IR e st
gt 1 et 11
(U™ AR TAT) (Tr=9)
(@ T (i) T
®) T (i) WO
(c) T (Zi7) TSEYIH
(d) < (iv) TS
T feu o fowedi # 9 WEH SW H F997 HifE
@ B © @
(A) @) Gip) &) (o)
- (B) @) G @) @
(0 @ G @O G0
D) Gi) Gv) G G

TBC : 21/P/I—A
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87. Match List I with List II :

List I List II
(Sanctuary) (Location)
(@) Bhadra | @  Jharkhand
(b) Dalma () Tripura
() Gumti (@ii). West Bengal

(@) Jaldapara

Choose the correct answer from the options given below :

@ (&)
(A) Gv) (E)
B) Gi) Gi)
©) G @)
M G )

(iv) Karnataka

© @
@ @
@) @
@ Gu) _
(i) (o)

qﬁlmwllﬁﬁm——rmﬁm:

e 1
(31aRUY)
(@) w1
(b) Srer
© 7w
(d) STe<HRI

gt 11
(&)
() REE
@) fagu
(i) ofyadt e
(iv) wAfes

ﬁéﬁqﬁqﬁwﬁﬁﬁ@wwmﬁﬁq:

(@ )
(A) (v) i)
B) Gu) Gi)
© @ O
D @ G
TBC : 21/P1—A

© (@
@ (@)
() @
@) ()
@) (Gv)
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88. Match List I with List II : :

List I
(Wetland)
(@) Deepor Beel
(b) Asthamudi
(¢) Loktak
(d) Kanjali

List II

(State)
(©) Kerala
(if) Assam

(ii) Punjab

(fv) Manipur

Choose the correct answer from the options given below :

@ ®) @© (@
(A G) G @ Gv)
(B) @) @ @) G
©) Gi) G & @)
M G G G G

get I & gEt 11 9 foam =ifsd .

=i 1

(ATR)
(@) TR i
(b) sTRTE
(c) Wrhesh
(d) wr

et 11
(1) 39H

(i) doE

(fv) HUNY

9 feu 7o faeedl § ¥ WF SW F 999 HIWQ

@ & @ @
A @ @) O G
B) @ @ @) G
(©) @) G @ (v
M @G O @) @)
TBC : 21/P1—A
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89. Match List I with List II : :

List I - List II
’ (Policy) (Year)
(@) Wildlife @) 1992
() Forest @) 1972
(¢) Environment : (i) 1988
(d) Pollution (tv) 2006

Choose the correct answer from the options given below :
@ B © @@
A @ GG Gv) 6
B) @ G @ Gv)
€ @ Gv G 6
M) G G Gv) (G)
Tl I w1 g 11 Q e i '
et 1 et 10

(uferet) (ad)
(@) T=<ite (0 1992
®) & . (i) 1972
© vl (@i7) 1988
(d) wgu @) 2006

@ @ @© @ .
(A) @ @) Gv) @)
B) @) G & Gv)
© G Gv) Gi) G6)
D @ GG Gv) G
90. Fats are made from edible oils using the process of :

(A) Saponification (B) Esterification
(C) Catalytic hydrogenation (D) Hydrogenation
mw@wmmmwmmm%;
(A) Fdfafrshm (B) TEiifwrsym

(©) wafafer wmSrrimm, (D) TEGISHHT
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93.

The main precursors of winter smog are :

(A) NyO and hydrocarbons (B) NO, and hydrocarbons
- (C) SOy and hydrocarbons (D) SOy and ozone

Y €9 & g&g 3med € :

(A) N,0 iR ereme (B) NO, ¥R wEgmemE

(C) SO,y 3R BB (D) SO0, &R aiF

Most kidney stones are composed of : -

(A) Calcium carbonate (B) Calcium oxalate

(C) Magnesium carbonate (D) Magnesium oxalate

st ¥ W wd Freffea @ A ¥

(A) Hfesm wEHe (B) whice sffeTeie

(C) Wiferm wEe (D) FHIREH s

There are two statements given below : :
Statement I : A traveler crossing the international date line from east to west

loses a day.

Statement II : A traveler crossing the mternatmnal date line from west to
east gains a day.

In the light of these two statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

¥ D w99 Ru T E

EOE t@‘ﬁvﬁaﬁﬁaﬂzmﬂmﬁﬁﬁ“@ﬁmwwuﬁwﬁ?@
a1 B

& 11 ¢ qﬁm@q&aﬁﬁaﬁ@uﬁﬁx@aﬁmaﬁaﬁwﬁwﬁq
FH AW BT B

T S wH B ooTas # A ffu u fawedt § @ waifysw swgE SWow 99w
HIfY ¢

(A) F4 I 3R weA 11.SH W& &

(B) %97 I 3R w9 II 3F o &

(C) &9 I W& ¥ iR %= II o ¥

(D) Fo 1 e ¥ o FaT I wd 3

TBC : 21/P/I—A _ 1
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95.

There are two statements givén below :

Statement I : Steam produces less severe burns than water at the same
temperature. '

Statement II : Dry ice is colder than regular ice.

In the light of these two statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

9§ wyd fow o ¥

HI 1 : WY THA A9A WY # qe § w5 iR e Ye o ¥

I I : gell 9% frafm 98 5t gom § 3t
ﬁﬁaﬁ%&ﬁmﬁﬂ%ﬁqwﬁﬂﬁéaﬁwmmmw
HIFT

(A) 9 1 3R ®e 11 1 wat §

(B) %91 I iR Fe@ II <F 7o #

(C) o I W ¥ 3l we 11 om ¥

(D) %97 I 7dq & iR weq 11 odt %

Arrange the following electromagnetic waves according to the increasing

frequency :

(1) Gamma rays - (2) Xerays

(3) Radio waves " (4) Microwaves

(A) (3), @), 2), (1) (B) (1), (2), 4), 3)

(C) (2), (D), (4), (3) D) @), 3), (1), 2
f=fafed fagage=sm i = Il AN B STER watyd #
(1) T R 2) w3

@) e @ (4) W G

(A) 3), 4), (2), (1) (B) (1), (2), (4), (3)

(C) (2), (1), (4), (3) ' D) @), 3), (1), (2
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96. Arrange the following atmospheric layers in the correct order from the surface

of the earth :

(1) Mesosphere : (2) Troposphere

(3) Thermosphere : (4) Stratosphere

A (@), @), 3), (1) (B) @), (@), 3), (D)

(C) (2), 4), (1), (3). D) @), 1), (4),(2)

frafafaa srHeeda Wl # geat # W ¥ 9E w9 # ot #1K o
(1) AERERET (2) #vHed

(3) oHIERIR (4) HHIGHSH

(A) (2), @), 3), (1) (B) (4), (2), 3), (D

(C) (2), 4), (1), (3) D) @), (D), (1), 2)

97. Consider the given four statements énd choose the correct answer from the
given options :
(1) A concave mirror is a diverging mirror
(2) Image formed by a concave mirror is generally real and inverted
(3) A convex mirror is a converging mirror |
(4) Image formed by a convex mirror is always virtual, erect and diminished
(A) (1) and (2) only
(B) (1) and (3) only
(C) (2) and (4) only
(D) (3) and (4) only
ﬁqwm¢uﬁmﬁaﬂaﬂmaﬁtﬁqﬂt{ﬁﬂﬁﬁﬂif3ﬂﬁm
(1) soae q9u ST9ERt qdo B ¥
(2) wade SUU g W AT wfafara @ERE: aRdEE q9r IR A ¥
(3) 3w Tuw AfyErt Tdw B ¥
4) 3w qd § I aren gfafar g enard, Wer ofw S g ®
(A) #aa (1) 3R (2) (B) @aw (1) 3R (3)
L (C) HId (2) IR (1) - (D) ®FA (3) ¥R (@)
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98. Consider the given four statements about ethanol and choose the correct answer
from the given options :
(1) It is the main constituent of all aleoholic drinks
(2) It is. not a good solvent
(3) It is soluble in water in all proportions
(4) It cannot be used as an additive in petrol
(A) | (1) and (2) only |
(B) (1) and (3) only
(C) (2) and (4) only
(D) (1) and (4) only
sé}ﬂfaa’»‘aﬁﬁﬁqwﬁmzﬁaﬁmﬁmaﬂﬂnqaﬂrﬁqﬂqﬁwﬁﬁﬁuﬁm-
I3
1) =@ w9t T=RF W w1 g yew P
2) ¥® Tk e faemgs T %
@) T’ o gl F ot § i &
@ W W A ofefea & w0 § wiom w6 e o g 3
(4) =@ (1) 3R (2)
(B) %ot (1) 3 (3)
(©) 39 (2) iR (4)

D) F3a (1) IR @)
TBC : 21/PI—A 59 " PTO.
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99. Match List I with List IT and choose the correct answer from the given options :

List I List II

(Acid) (Source)
(@) Ascorbic acid () Apples and pears
() Malic acid ' () Ant stings
(¢) Formic acid (iii) Tamarind and grapes
(d) Tartaric acid (fv) All citrus fruits
Codes :

@ ® © @
A G) G @ @
B) Gv) Gi) G @
€ Gvy @& G @)
O Go) G G ) |
T 1w g 11§ gafem Fifvg oit fey e fenedl # W@ IR AT

gt 1 gt 11
() (@) : i
(@) TwHfaE 3T G F= 3R meraT
) Hew Gy = w Ew
(c) Wifgw <A (iii) THN SR I
(d) eéfE v Gv) Wt @ HA
wE |

@ .6 © @
A) G) G @) 6
B) Gv) i) @ 6
© G 6 G G0
D) Gv) GiD) G 6@
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100. Match List I with List IT and choose the correct answer from the given options :

List I ' List II _

(@) Hydrophone (i)  An instrument measuring the

| - rotation speed of a shaft or disk

() Megaphone ' (i) An instrument that measures wind
speed

() Anemometer (i)  An instrument that spreads sound
to far-off places

(d) Tachometer ' (v) Anunderwater device that detects

and records ocean sounds from al]
directions
-Codes :
(@ ®&) @© (@
A G @ G G
B) & G @G Gv
© ®© GG G G
D) @) G G @
T IR g 1 F g Ay sl Ry M e § 9 W@ s P

L : gt 11

(@) wEgHA @) W @ e F: oyl 1 Ty aen
| T 3T

(b) FTEA @) TH STHO S g H U B oA §

(c) THHEm= (@) TH IURO S - qF = e ¥

(d) (o) WMl & A= F TE T W W st
: @Hggaﬁmmaﬂmm%aﬂ'{ﬁaﬁ

E2GI i
wE :

@ ® @ @@
A Gv) @G ) @)
B) @) @) G G
© @ @@ G i)
D v G @G G
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SPACE FOR ROUGH WORK
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woa @ @ R
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